
 

My response variable is: 

CATEGORICAL CONTINUOUS

START

My number of 
explanatory
variables is:

1 variable 2 or more 
variables

Chi-square 
Goodness of 
fit test

Chi-square 
test of 
independence

My number of 
explanatory 
variables is:

1 variable that is:

2 or more 
variables that 
are either:

Both 
categorical

One is 
continuous 
and one is 
categorical

2-way ANOVA

ANCOVA

Categorical 
with 2 groups

Categorical 
with more 
than 2 
groups

t-test
1-way 
ANOVA

Continuous

Correlation Regression

Relationship 
has:

Causation

No 
causation
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Response variable

Explanatory variable


